. :J,a.’- Eosd| “The house is beautiful.’

whereas the verbal sentence commences with a verb,

:f‘jw‘ J>-> “The teacher has entered.’ i%l

Here are some more details about these two types:
— The Nominal Sentence:
The beginning of the nominal sentence is one of the following:

This is a school

)

‘i
Here are some examples of the masdar mu awwal:

In the place of ra/":

;L."di i‘,-/d\ ::.:u ol “That you study Arabic is better,” (Here it is mubrada’ =}di v A -L-\',.)). ‘ i

:Ul., ‘.-_"." ol 'pb?\ ‘Islam means that you believe in Allah." (Here it is khahar = ;Ul, ',\L..f-\‘,'\ 'f)\..\[l)




- oo il g6 vw O a25'Itis necessary that you write your address legibly.’
o Rt og S y that y y gibly

: . a
(Here it is /i u‘=;},,',x ;;\}-..Jl Ll J""” &

In the place of naysh:
| | o s 1§ . = Y q
e 75 ‘I want to go out.” (Here itis maf il bihi= = =0 &) _ ﬂ
| | - - ~ (} L
In the place of jarr: ? !
>335 Ol L *Come before you leave.’ (Here it is mudaf ilavhi= » KA J:. J%) »
L - &S m v
| | ol . (o 4 v
) ll o2l Y ‘Don't gotill I return.’ (Here it is preceded by a preposition = & 4> J! eab ). ’

s s P " LA T
Here the clause | 4 4025 O| functions as a maydar (infinitive) as it means \braj\ fasting’.

¢) a particle resembling a verb, e.g.:

& - A

s B o ‘Indeed Allah is Forgiving, Merciful.’
To AT O

The particles resembling a verb (JMJL £ialr Sghan) are &) and it’s sisters like Jale (SIe Cad

2R ‘ ol ) Pl
@ @ meww f 50

P / ik

‘iix G .. .
U_‘ \ug} ‘_UjdeLQ.XScJ,}-‘éJSj

) ——

AaSadll aaid

2O 2%
-

k‘ Mujﬁwgs.)‘;ij\w

°

G‘ ‘% Gou

etc




The Verbal Sentence:

The beginning of the verbal sentence is one of the following:

Jxad) |

The verbs

2601 2Jai)l

a8l aall

I A
'an incomplete verb

ACATE o

@ E
- a complete verb
|

A complete verb is
that needs a

4 Jgrdo 9 Jelb

one

]
An incomplete verb is one
that needs an

A9 el

[ |
intransitive Verb Transitive Verb lgilgsl 9 O
A1 Jadll Sdaia)l Jaddl ———
I - I el Lo
| Jsbb g Jad |l Jgrie g Jelo g Jad 15 Lo ¢ ool ¢
y @ - 31 = =) o .'.'“'.:.'“: .1 ;
s o & ” : —”- C)UJ\ ..Ué)‘ éiQ 5 ;, ﬁ 04 WJ ‘
; % P . - - & L JO
[ ;‘@I,r The sunrose ||The boy opened the door” 13 )b 52)‘ u ESE QWUL&T
- SUPEN F-Srd Pl Ui&c&i)’c&:’)?'c’ ”
o« F =3 7 The weather was cold | | Water became ice

5280 (ole Jad 48 9 O OlgsT o dols Jad Gl

5919 &ilaall § $laly g baab

The verb of start/began
as an incomplete verb they also

have = 9 ol

Bilal began to write i

in this sentence JM is 7ism and the
sentence <35 is its khabar. The verb
in the khabar should be mudari

% -

&,wc U..) cdi.‘; RS

0\

(Q» | 2545 Lwsaall 32T The teacher began to explain the lesson i

“ ST &Jas Tegan to eat
T These verbs are also used in the same way and with the same meaning.




